00'0+

> . GEIT | GGETT | _
z B3 " M|~ g3
N - 2 °le 5T
m .m_mfme“mm m ) m NN.O+ N . am
D S |25:388 5.8 5 6GS'E€TT | © OV €11 | &
N2 §.2 % >
LL“ anm.mm,mm E°E o . N
Ao &g88s- 0" | re o+ ZLETT | o Ov'ETT
') S E833e:? s . _
ST = 90 p8'ETT 09°€TT
Q. — &zks; g
-] © m m m m Y, -
—_— - S 12
(40) a = .M .mm.wm m _k.v.,
CA PR PR LY B 0Z'0+ 0ZFTT 00VTT
o i : S
o 0
&
‘al S
i 1e0+ IEVIT 00VTT
S % s 3
= £ ¢ . ~
o ceor TVIT | o 0Z'%TT
- 3
o
9L'vTT =
9 0+ 8 VLT 0SVTIT
E NN Ol—l “Meu eu wwo\_nchco‘_hm\sw.hcwdmim Nw.qﬁn_” ow..vn_nn_u
€10+ €6'7TT 08VTT
(qV|
<
o
. O
ST o+ Sy'STT 0E°STT
Om.m._”._” W. m M M
65'STT AM LT
. 65°GTT ©
vEO+ ¥9'GTT % T 0g'STT
| 0
6T 0+| 65°GTT OV'STT
£C0+ €G'STT 0E'STT
X
(e»)
2’
. o
wl_” Ol—l LY'STT=10|AM {9G‘E€TT=10|M %Q‘T=! w.v.ml_nl_” /0 om.ml_nl_”
‘W 006 1P O ‘w2 09 I} IdAH eJnJ :njuowal op o
. 0€‘850+T Wy M 3sndazad Adefaiuls| m
1e0+ 16°STT | © 02'STT
S0 95'STT 0E'STT
ce o+ 29'STT 0E'STT
8C 0+ 89°GTT 0v'STT
€co+ €/'GTT 0S'GTT
8e 0+ 8L°STT 0v'STT
reo+ ¥8'GTT 09°GTT
0€°0+ 06'GTT 09'GTT
N
™
(@]
<
. N
¢ 0+ G6'STT | 0L'GTT
©
o
S
oTo+ 92'9TT 0T'9TT
oTo+ 95°9TT Ov'oTT
ST 0+ G8'OTT 0,971
(90)
—
o
—i
¢ —
SLO+) STLTT o 00°2TT
| Q
| I~
| <
: osLLoroum B e s | €L TT
G2 O+ Z suuoJisomeld aluazokjod mm.N._”._” O._”.N._”._”
cco+ 2511 AR
N~
(o)
o
. N~
cco+ 2T o 05211
>
4.1
ST o+ G8°/TT 0L 2TT
61 0+ 66'L1T 08/1T
ce 0+ ANIA} 08‘/TT
. GZ'81T 00'81T
mN On—n ‘9TT=10|AM {T69TT=10|M %0‘T=! ‘W 00’6 1P O ‘
‘wd 09 I 3daH eund “NNWMHML R,u o.%‘mmﬁwmwo E_v_ B\mwsﬁamta mm@.mw_ﬁm_ mN w._”._”
—
—
5
o™
¢ —
9c 0+ 9e'8TT | o 0T'STT
>
®
Q
g0+ 09871 0£'8TT
w0 58'8T1 09'8T1
(@]
(ep]
¥
. [0 0]
oe o OT'6TT ¢ 06'8TT
Q
—/ll
Q
Lo 0£'6T1 00671
Te o+ 15611 02611
ceor 2L'6TT 07’611
(@)}
2’
o
3
ceor 26'611 02611
o
S
ceor zz'oet 00021
reor 15021 0’021
o
Lo
9
oe o 08'02T ¢ | 0902t
>
)
Q
o L6'0zT 08°02T
we o eT'Tet 06021
Lo 08'T21 0021
LT0+ Ly 12T 08 TeT
€10+ €9°T2T 05Tt
oe o 08'T21 09'T21
o
S)
Lo
¢ (@]
500n 16721 N ogTer
00cct 00'22T
(]
[
5
o ()]
S £ AN 5
) T D0 c
=] o S = D
o a g & s
A — O
. c | =2a £
I o .w < o
a 8§ 23 §
(a1

T=

=95,94 m

Prosta L

Prosta L=

10,82m

o=

20m L
z

=52,82m

Prosta L

=126,90m

Prosta L

=126,90m

Prosta L

=126,90m

Prosta L

=126,90m

Prosta L

0,69 m
2/2%,

5,28m z

31,64m /K

63,1679
19,84mT

/N

Prosta
L:

1+148,10
1,835g

km=
Z1 a=1,

2/2%

2,74mq

R=

1+141,08
0,815¢g

km=
Z1 a=0,

1+058,34
0,111g

km=
Z1 a=0,

0+636,80
0,104g

km=
Z1 a=0,

0+513,41
0,569

km=
Z1 a=0,

proste i tuki poziome

7,31m

0065

679t

ev'oe

Z8've

CL'ET

8818

95'8S

Gv'9g

G9'ET
856

G8'S

28'c
GL'C

€089

L1109

28'es

86'91

LT'TY

G6°CT

1°98

2e'8s

0€'8S

ve'sy

00'9T

¥8'98

G2'8S

£'0g

GL'C

ge'el

9'GY

81

ZT'68

9/'09

60°€E

L8V

0S'LL

85'9/2

G9°'¢S

¢'se

GT'L6

G6'89

vy

80'vT

0c'eT

60°06

86'T9

¢s'ee

6LV

98'9/

8v

82'8T

G'06

LS'T9

ev'ee

LT'9.

Zr'sy

0¢

€16

G'29

cT've

18t

odlegtosci




